
  هاي خودسنجي  پاسخنامه آزمون
  » فيزيك مدرن« 

  
  
  )1(ن آزمو

    »3«ـ گزينه 5   »3«ـ گزينه 4   »1«ـ گزينه 3   »2«ـ گزينه 2   »2«ـ گزينه 1
       »3«ـ گزينه 1

  )2(ن آزمو
 »4«ـ گزينه 5  »4«ـ گزينه 4   »4«ـ گزينه 3   »1«ـ گزينه 2   »4«ـ گزينه 1
     »1«ـ گزينه 6

  )3(ن زموآ
   »3«ـ گزينه 5   »3«ـ گزينه 4   »1«ـ گزينه 3   »1«ـ گزينه 2   »4«ـ گزينه 1
            »4«ـ گزينه 6

  )4(ن آزمو
 »3«ـ گزينه 5    »2«ـ گزينه 4   »3«ـ گزينه 3   »2«ـ گزينه 2   »2«ـ گزينه 1
     »1«ـ گزينه 6

  )5(ن آزمو
    »4«ـ گزينه 5   »2«ـ گزينه 4   »3«ـ گزينه 3   »2«ـ گزينه 2   »4«ـ گزينه 1
       »2«ـ گزينه 6

  )6(ن آزمو
 »4«ـ گزينه 5   »4«ـ گزينه 4   »2«ـ گزينه 3   »4«ـ گزينه 2   »1«ـ گزينه 1
     »2«ـ گزينه 6
 
 


